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#3:

(a) What is the annual gas production (consumption) in the U.S.A.; thus, what is the daily gas production?

Annual gas Production: 22 TBCF/annually 
Daily gas production: 62.5 BCF/day
(b) Please convert the daily gas production (consumption) in the U.S.A. to BOE/D and compare it with the daily U.S. oil production rate.
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(c) What is the daily coal consumption (mostly for electricity generation) in the U.S. in BOE/D?
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(d) On the average, what is the daily level of gas consumption (on the BOE basis) as compared to oil consumption? 

The daily level of gas consumption is half the amount of oil consumption

10.5E6 (BOE gas) vs 22E6 Bbls 

#4:     (a)  How much 
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 is produced from one pound of oil, one pound of natural gas, and one pound of medium grade coal?
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Ratio = 44/12 = 3.67

1 lbs of coal will produce 3.67 lbs of CO2
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Ratio = 44/16 = 2.75

1 lbs of CH4 will produce 2.75 lbs of CO2
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Ratio = 528/172 = 3.069

           1 lbs of C6H14     will produce 3.069 lbs of CO2

(b). what is the current estimate of the cost of sequestering one ton of
[image: image8.wmf]2

CO

 removed from the air? Of course, this cost is in addition to the capital cost for the infrastructure.
The cost is $150 per ton
(c). If the cost of sequestering 
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 is too high (or impractical), what is next best thing we can do to reduce 
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 emission?

       We can use it for Enhanced Oil Recovery as a solvent for miscible flooding 
#5: The known estimate of the oil resource in the world is 11.8 trillion barrels of oil (light, medium, and heavy). 

(a) In discussing the proven oil reserves, what do we mean by the first trillion, the second trillion, and the third trillion barrels of oil? What is the period of time associated with these numbers?

1 trillion -> Past 100 years

2 trillion -> It’s now plus next 25 years

3 trillion -> For EOR purposes in the future after 2030 or so 

(b) Based on the above information, what is the estimated conventional oil recovery fraction worldwide? What is the lesson here for the future of petroleum technology?
35% conventional oil recovery

The lesson is the future of petroleum is bright and advance technology is what will help us acquire in a safe manner reserves that are left behind
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